HIS-ML19.5-Fxxx Models

Front View

Side View

'\\\\E

z
o

530.0 mm
(20.87")
Z
b ) pm
c
S i
=
c
=
@]
=
2
S 332.5mm 241.2 mm 265.2 mm
p (13.09") (9.50") ﬁ[ (10.44")
3
A
]
2
=
n
o
g -
()] N
£
r% 437.5
a (17' 2?..;“ 8.8 mm 46.3 mm
=] ' (0.35") (1.82")
o
+—
=
)
©
c
©
©
=)
c
S
<
O
]
=
©2025
Hope Industrial Systems, Inc. Part Number: HIS-ML19.5 Date: 2025.01.31 NOTES: Design to maximum depth of 63.5 mm (behind front edge of panel) to

Toll Free: (877) 762-9790 - International: +1 (678) 762-9790 —
UK: +44 (0) 20 7193-2618 - E-mail: support@Hopelndustrial.com | Revision: C

Page 1 of 8

ensure future compatibility with later revisions and replacement units.




HIS-ML19.5-Fxxx Models

'\\\\E

z
o

Rear View -~ 2359mMm————
(9.29") ~————~— 50.0 mm (1.97")

[ )

l [-]

| 0000°0 |«

| N
. | ™~ CONTROL PANEL
o]
= 100 mm VESA Il ; BUTTONS
= MOUNTING PATTERN — | | o
= (M4 SCREWS PROVIDED, I ® o
§ 16 mm MAXIMUM DEPTH : Q A i ﬂ
B OF SCREW) - 652
% ! Q ri (6.54")
(0]
g i o —4a
§ | DISPLAYPORT | USB—— SERIAL
tn AC — VIDEO (RS-232)
= POWER — p¢ DVI-| VIDEO
I INPUT ) (for Touch Screen
5 POWER  (HDMIand VGA ,
£ INPUT via Adapter) option)
5 Bottom View
5 | 471.8 mm
3 ‘ (18.58") 55.1 mm (2.17")
©
% |
é’ Q
2 88mm — ‘ ‘
— (0.35") 530.0 mm |

(20.87")
© 2025
Hope Industrial Systems, Inc. Part Number: HIS-ML19.5 Date: 2025.01.31 NOTES:

Toll Free: (877) 762-9790 - International: + 1 (678) 762-9790 —
UK: +44 (0) 20 7193-2618 - E-mail: support@Hopelndustrial.com | Revision: C Page 2 of 8




Mechanical and Cutout Drawings — 19.5" Widescreen Panel Mount Monitor

HIS-ML19.5-Fxxx Models

Bottom View (showing Cable Connections)

-

£=~%

=<——M5 NUTS (10 PLACES, PROVIDED)

I|<— REAR COLLAR

J]ﬂr&uuuuuuuuuuuuuuuuu T
Q

Mounting Diagram

DISPLAYPORT g — SER'AL
VIDEO (RS-232)
POWER DVI-I VIDEO
INPUT (HDMI and VGA (for Touch Screen option)

via Adapter)

©2025

'\\\\E

z
o

Hope Industrial Systems, Inc.
Toll Free: (877) 762-9790 - International: + 1 (678) 762-9790

UK: +44 (0) 20 7193-2618 - E-mail: support@Hopelndustrial.com

Part Number: HIS-ML19.5

Date: 2025.01.31 NOTES: Compress collar with torque 1.13-1.7 N-m (10-15 inch-pounds) or until

molded frame sits flush against front of the panel.
Page 3 of 8




HIS-ML19.5-Sxxx Models

Front View

Side View

'\\\\E

z
o

528.3 mm
(20.80")
S ) =
c
@]
=
c
=
]
=
K9]
5 328.5mm 241.3 mm 265.3 mm
o (12.93") (9.50") =0 10,447
c : ) D .
L}
g
A
[}
2
=
n
m v
' | [
(%]
()] i
£
‘% 4374
a (17' 2r2n";n 9.0 mm 47.5mm
= ' (0.35") (1.87"
o
+—
=1
)
©
c
©
©
=)
c
©
<
O
7}
=
©2025
Hope Industrial Systems, Inc. Part Number: HIS-ML19.5 Date: 2025.01.31 NOTES: Design to maximum depth of 63.5 mm (behind front edge of panel) to

Toll Free: (877) 762-9790 - International: +1 (678) 762-9790 —
UK: +44 (0) 20 7193-2618 - E-mail: support@Hopelndustrial.com | Revision: C

Page 4 of 8

ensure future compatibility with later revisions and replacement units.




Mechanical and Cutout Drawings — 19.5" Widescreen Panel Mount Monitor

HIS-ML19.5-Sxxx Models

Rear View -~ 2359mm——
(9.29") «——— 50.0 mm (1.97")
1o ) i o) o)
° | °
o | o | 00000 |
| N
| ™ CONTROL PANEL
D BUTTONS
100 mm VESA | |
MOUNTING PATTERN — [Pl e .
(M4 SCREWS PROVIDED, | A
16 mm MAXIMUM DEPTH ;Y ..
.Zmm
OF SCREW) NN 42
|
e L E—— ) | — o
| DISPLAYPORT | USB—— SERIAL
POA\\/SER_ VIDEO (RS-232)
INPUT PODVSER (H[I):)VI\JI-IIaVr:g I\E/gA {for Touch Screen
INPUT via Adapter) option)
Bottom View
| 471.8 mm
‘ (18.58) 56.5 mm (2.22')

'\\\\E

z
o

9.0 mm — ‘ ‘
(0.35") 528.3 mm |
(20.80")
© 2025
Hope Industrial Systems, Inc. Part Number: HIS-ML19.5 Date: 2025.01.31 NOTES:

Toll Free: (877) 762-9790 - International: + 1 (678) 762-9790 —
UK: +44 (0) 20 7193-2618 - E-mail: support@Hopelndustrial.com | Revision: C Page 5 of 8




Mechanical and Cutout Drawings — 19.5" Widescreen Panel Mount Monitor

HIS-ML19.5-Sxxx Models

Bottom View (showing Cable Connections)
- = = =<+—— M5 NUTS (10 PLACES, PROVIDED)

[ | ]=—— REAR COLLAR

‘_L&I]I]I]I]I]I]I]I]I]I]I]I]I]I]I][II]le]I]I]I]I]HI]I] E h i

DISPLAYPORT | USB SERIAL

VIDEO (RS-232)
POWER DVI-I VIDEO

INPUT (HDMI and VGA (for Touch Screen option)
via Adapter)

Mounting Diagram

L ©2025

'\\\\ES

z
o

Hope Industrial Systems, Inc. Part Number: HIS-ML19.5 Date: 2025.01.31 NOTES: Compress collar with torque 1.13-1.7 N-m (10-15 inch-pounds) or until
Toll Free: (877) 762-9790 - International: + 1 (678) 762-9790 — bezel sits 0.9 to 1.7 mm (1/32" to 1/16") off front panel.
UK: +44 (0) 20 7193-2618 - E-mail: support@Hopelndustrial.com | Revision: C Page 6 of 8




Mechanical and Cutout Drawings — 19.5" Widescreen Panel Mount Monitor

Cutout Dimensions (All Models)

298.5 mm

(11.75")

497.8 mm
(19.60")

3/8" MAX PANEL
THICKNESS WITH
STANDARD COLLAR

©2025

'\\\\E

z
o

Hope Industrial Systems, Inc.

Toll Free: (877) 762-9790 - International: +1 (678) 762-9790
UK: +44 (0) 20 7193-2618 - E-mail: support@Hopelndustrial.com

Part Number: HIS-ML19.5

Date: 2025.01.31

Revision: C

Page 7 of 8

NOTES: +0.5 mm (0.020") tolerance on cutout dimensions




VB-19.5B Accessory Mounting Bracket

Rear View
468.4 mm
(18.44")
I Z ! 9 HIS-ML19.5 MONITOR
© . QOO0 °©
g B ACCESSORY
5 154.4 mm | BRACKET
= (6.08") |
€ P . 75 AND 100 MM
§ @ ¢ - e VESAMOUNTING
3 (c) __©) PATTERN (See Notes)
5 8
&
c
o
b}
AN
S
= [ Te8 T T&8T |
= I - (] (o] o
i
o
[
(%]
o
£
3 Bottom View
()
5
S |
5 [ — — ACCESSORY
3 127 mm — IL = - &) BRACKET
S (0.50")
= Q ]
o
\ \
2 . 530.0 mm |
] (20.87")
=
©2025
E Hope Industrial Systems, Inc. Part Number: HIS-ML19.5 Date: 2025.01.31 NOTES: 19.5" Monitor comes standard with 100 mm VESA Mounting Pattern;
2 Toll Free: (877) 762-9790 - International: +1 (678) 762-9790 —— Accessory Bracket is for drilling new mounting when required.
fAls UK: +44 (0) 20 7193-2618 - E-mail: support@Hopelndustrial.com | Revision: C Page 8 of 8




